HMANIE BT 4
D EIENAE / 5 &R

XEFEE - HRAR D RN 5 B E VA
EH 22120.

EmiEiR

BARSERENERBEREMER.
TRERRARE 6. 8 & 10 Mo EIEMAE,

ME

PR
< H 2R, BEEB
- T, RS

1
- iR, 322
o FHE@H 1.4305
EE
gy
threaded pin
ds :
/ with brass bolt
A Y’ II 1 N
= g |
™ 3 | —
r"\ \) = ! ~ —I ! - 1-'
m I 4 | 1K i
—_— I | It
| 111
Kk Kk . ®
l2
d countersink for cylinder head stud
2 ISO 4762 ®
T + T T
of 1HE—@—t DREEE)
. e
[ [ Y/ \~4
picture 1 picture 2
FTEEA
R~ @ i
d4 d, ds d, k Iy I3 Iy s max.
+0,1 ~
[mm] [°C] [g]
EEA Mo R FT - M 1, 8
M12x 1,5 32 M5 45 21 22 26,5 9 12 250 43 22120.0345
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 122 22120.0346
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 109 22120.0350
EEAEES BRI BEME - HF 2, 88
M12x 1,5 32 M5 45 21 22 26,5 9 12 250 37 22120.0347
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 106 22120.0348
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 94 22120.0352
EEA Mo BRI FT - A 1, THE
M12x 1,5 32 M5 45 21 22 26,5 9 12 250 43 22120.0545
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 122 22120.0546
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 109 22120.0550
EEAEES BZ MO BEME - M 2, THR
M12x 1,5 32 M5 45 21 22 26,5 9 12 250 37 22120.0547
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 106 22120.0548
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 94 22120.0552
VHALDER A

FIE7E: 12.10.2023



http://halder.com/tw/22120.0345
http://halder.com/tw/22120.0346
http://halder.com/tw/22120.0350
http://halder.com/tw/22120.0347
http://halder.com/tw/22120.0348
http://halder.com/tw/22120.0352
http://halder.com/tw/22120.0545
http://halder.com/tw/22120.0546
http://halder.com/tw/22120.0550
http://halder.com/tw/22120.0547
http://halder.com/tw/22120.0548
http://halder.com/tw/22120.0552

HMANIE BT 4
DEIEMA / 5o EIRE

P& R &4

LIS

BFRFAMENERER  FREMBENER.

WHALDER AB 282

FIE7E: 12.10.2023



